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1. 1857waaaﬁmmmlmwﬁwm@aﬁwwaﬁﬁﬁﬁwwm?ﬁ?

(1) kel 3ife Re wR sfem (2) Wftfee TeETt
(3) <% SR (4) uwrsg o
Which designation was created to run the Indian administration after the Revolt
of 1857 ?
(1) Secretary of State for India (2) Lieutenant Governor
(3) Chief Commissioner (4) External Affairs Minister
2. EIED! o3 T
A gaEy il I e aemE
¥, 97 U9Eg II. gt wawe
*. EH agwuiTe Ted [II. STEea=a Nash=3r= a0
8. B e V. e’ Jes
T S
H o &+ S
(1) III v II I
2y 1I I v 111
3 IV 111 I I1
4y III I v II
Match the following :
a. Dinabandhu Mitra I Satyagraha of Bardoli
b. Baba Ramchandra II.  Satyagraha of Mulshi
c.  Sardar Vallabhbhai Patel ITI. Struggle of Ayodhya farmers
d. Senapati Bapat IV. The Drama of ‘Nil Darpan’
Answer Options :
a b c d
(1) III v II I
(2) II I v 111
3 IV 111 I II
4) III I v I1

Foey] HHTIT ST / SPACE FOR ROUGH WORK P.T.O.
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Ffew srwifee’ @ eafewd S faumn st ame 2

9. Tég 9 quawH Fieard fimer wie fmton soam 3 g

. ftoreme dEa 3 %6 dem T geen St

3. fafgw afcdn vhssiar aamia aefavamd vae1 .

Tt I

(1) 37 anfor o faum sO=t Rd (2) o, 9 afor & faue S0 e

(3) @ anfor & fqum st 211Ra (4) @ nfor g fagm s a@a

Which statements are correct régarding the ‘Indian Association’ ?

a. Dadabhai Naoroji took the initiative for the establishment of the Association.

b.  Objective was to create friendly relationship between the Hindus and the
Muslims.

c. Pherozeshah Mehta and K. T. Telang ran the Association.

d. Efforts were made to enhance the age for Civil Services Examination.

Answer Options :

(1) aand b statements are correct {2) a, b and ¢ statements are correct

(3) band cstatements are correct (4) b and d statements are correct

HiT=a Hiven sfEvEe s fig 13 @ ) e st vae a2

(1) Ha3 (1889) (2) 3IcTTErETg (1888)

(3) WHg™ (1887) (4) eThRdl (1886)

For which session of the Congress did the British officers try not giving any venue
for it ?

(1) Mumbai (1889) (2) Allahabad (1888)

(3) Madras (1887) (4) Calcutta (1886)

Hfera FrET JSa@t A o smed 2

9, Hareur M Fer-3-fae’ yadt et T Feft.
%.  grwen dfie e gemEe Age diwdl it g T S
g, Toarh sgade smid.

gtET I ;
(1) 37 afIfor & faum sO= a1ed (2) 9, & afor g faur s 4@
(3) A, & nfor g faur s Imeq (4) ¥ anfor g fau st=T anRa

What are the salient features of the Civil Disobedience Movement ?

a. Participation of the Pathans under the leadership of Khan Abdul Gaffar Khan.
b. Mahatma Gandhi returned the award of ‘Kaisar-i-Hind’ to the Government.

c.  Sarojini Naidu led the Dharasana Salt Satyagraha.

d. Best Performance of Women.

Answer Options :
(1) a and ¢ statements are correct (2) b, cand d statements are correct
(3) a, candd statements are correct {4} b and d statements are correct

FTegT BIFRITS! TR / SPACE FOR ROUGH WORK
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TrGaTSHde Wi A SfeE FES R W Yer B,
(1) WeR 89 ' (2) TG HH
(3) = wA (@) Trewl wm
Devidas Kamble was the leader of the from Pathri in Marathwada.
(1) Mahar Samaj (2} Matang Samaj
(3) Mathadi Samaj (4) Malkari Samaj
7.  TWHER RIS .

(1) TECHATH TGS qHeAT
(@) féh wers wuew
(3) T were g
(4) T TS HHAT
Khaksar means the
(1} Militant organization of the Muslims -
(2) Militant organization of the Hindus
(3) Militant organization of the Sikhs
(4) Militant organization of the Gurkhas

8. faguia fégrarh o ¥ wma gdie s iish! F g ?
(1) ¥HeTad amdl, farres 9. et AT WA FIvEd
(2) @@ AT FIHAREY FIE
(8) TS, YEed, TAMAREY Hifvnd
(4) T anfy famge /. T

Who from the following persons were participants in the establishment of
‘Hindustani Lal Sena’ in Vidarbha ?

(1) Madan Lal Bagdi, Vinayak S. Dandekar and Shyam Narayan Kashmiri
(2) Sukhdeo and Shyam Narayan Kashmiri

(3) Rajguru, Sukhdeo and Shyam Narayan Kashmiri

(4) Rajguru and Vinayak S. Dandekar

9.  HiTH JHT ITH 7 i gEae AT FEwd B
(1) wREaTE (2) HiFw (3) foy 4) @HRW
Moreshwar Vasudeo Abhyankar was a Home Rule activist from
(1) Marathwada (2) Konkan (3} Vidarbha (4) Khandesh

FEEY] BETIIS! ST / SPACE FOR ROUGH WORK ' P.T.O.
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10. SERNHNY AHIEE Gien, T WIS, gue IRET AR € 1857 =41 I3EE1 HIO]
B
(1) amrfas (2) TEhE (3) 3anfd=w (4) Tl
Dalhousie’s policies of Imperialism, Subsidiary Alliance System and Doctrine of
Lapse were the : causes of the Revolt of 1857.
(1} Social (2) Political (3) Econemic (4) Military

11, &9 1925 W&l @WiisawHl T ¢ 009 IE hol. el TSR Saaia Eietel 5

HIvr fvy g 2

A =R . foem
F.  GNREE g, fome
Qi T

(1) ¥ anr (2) =« a3 ® (3) F Mg (4) 31 3nfor %

Khadilkar started ‘Navakal’ newspaper in 1925. Besides politics, which other
subjects from the following were dealt in it ?

a. Trade b.  Education

c.  Market Price d. Cinema

Answer Options :

(1) aandb (2) bande (3) candd (4) aandc

12. e Tyt fiteger dema” el Siven @Y FEn gEEE T5gd ?

. I T, AUHE

F.  TUEHM . APpsHM
it 39

(1) &, 5= (2) &, % AMNE
(3) A, % AT (4) &I 3 A

Which of the following small scale industries was not incorporated in the ‘Wardha
Scheme of Education’ of Gandhiji ? |

a. Agriculture b. Shoemaking
c¢. Pottery d. Woodwork
Answer Options :

(1} a,bandec (2) b,candd
(3) a,candd (4) Onlyaandb

FoelT FHEFTS! SN / SPACE FOR ROUGH WORK
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13. S o .
. T MR I e oA
9. W g I FoIsh =as e
F. A T I fervammy TREW Heefi®
g, Afesg afafiem IV. Z&mHTg st
Tt I
A dq & g
(1y 1II v III I
2y IV I II 11
3) I III I 1AY
(4) III I IV I
Match the following :
a. Rast Goftar I Tatya Chhatre
b. Dnyan Sindhu II.  Krishnaji Trimbak Ranade
¢.  Dnyan Prakash III. Vishwanath Narayan Mandalik
d. Native Opinion IV. Dadabhai Naoroji
Answer Options:
a b c d
(1) II v III I
2y IV I II II1
3 1II I11 I v
4) III I v II
14.  YIGOT 99 AT @RI Yoadfl HeAmiETd @Wifiedsh hivl Hearl e g ?
' (1) FORE AR (2) fswa Jasst
(3) TTAERS HEH (4) daus fig
Who among the following was involved in the Mulshi Satyagraha along with
Pandurang Bapat ?
(1) Krushanarao Bhalekar (2) Dinkarrao Jawalkar
(3) Tatyasaheb Karandikar (4) Shripatrao Shinde
15.  ‘usfa o wuTE gad vl TaTeHT Hivft et ?
(1) R am (2) TH.EH. S
(3) T S (@) TWEr
Who established the ‘Rashtriya Mill Majdoor Sangh’ (RMMS) in Mumbai ?
(1) G.D. Ambedkar : (2) S.M. Joshi

(3) N.M. Joshi (4) Datta Samant

Feg] HHTHIS ST [ SPACE FOR ROUGH WORK

P.T.O.
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16. WTelieidshl HIvMAT 92& WA AT a1 AEUATEE] HROME R 7
(1) pfiaemEr forga wm
(2) wrarAT ford St e /g
(8)  30°d 40° T YgAE e I e
(4) ofa &
Which of the following factors is responsible for blowing of monsoon winds in India ?
(1) Wide continental land
(2) Sea on three sides of India

(3) Existence of jet stream between 30° to 40° latitude belt
(4) All of the above

17. farle 3am Sgmn sweer fimiee smemn I s o,

(1) Fers, gars o, d@ad, g g

(@) i <, WA e, Rdes, dad

(3) war arg, fadiene, gadl, gt g

@)zt o), e, waré mivg, fadene

Arrange the correct sequence of cement industry from North to South.
(1) Chittorgarh, Sawai Madhopur, Khetri, Dalmia Dadri

(2) Dalmia Dadri, Sawai Madhopur, Chittorgarh, Khetri

(3) Sawai Madhopur, Chittorgarh, Khetri, Dalmia Dadri

(4) Dalmia Dadri, Khetri, Sawai Madhopur, Chittorgarh

18, Il A HR@HT Hivedn T=aa g ?

(1) foEr (2) ToRm (3) omHm™ (4) T HrowE T

In which State is Noonmati oil refinery located ?

(1) Bihar (2) Gujarat (3) Assam {4) None of the above
19. ¥ ST Tiresaam.

1) W (2) 9@

(3) m ‘ (4)  aTreRTER /STl

Kattha is obtained from tree.

(1) Khair (2) Sundrn

(3) Teak (4) Acacia

Foed] BETHIS! AN / SPACE FOR ROUGH WORK
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20, _ T<E YaI9d AU AR,
(1) HErsg (2) s -
(3) FHAeH (4) iy
State is leading in wind power energy.
(1) Maharashtra (2) Kerala
(3) Karnataka (4) Tamil Nadu
21. TR w9 o geaew e,
(1) HEvat , (2) TR
(3) TR (4) TREY
is the headquarters of North-Eastern Railway Zone.
(1) Bhubaneshwar (2) Hajipur
(3) Guwahati (4) Gorakhpur

22,  @refiel oo qerar o ;
faum T e yerrs it wearar qv FweiE TR,
(1) ﬁum‘az’m‘a’arémaqﬁa
(2) foum ‘o o ongd favm @ w9 AR
(3) faum or s@ey o fvm & g ame
(4) Toum or anfor & S swew emda
Examine the trueness of the following statements :

Staternent 'A’: Majority portion of Maharashtra Plateau is occupied by ‘Basalt’
rock.

Statement ‘B’: The origin of Maharashtra Plateau is due to deposition of lava.
(1) Statements ‘A’ and ‘B’, both are true

(2) Statement ‘A’ is true, but statement ‘B’ is false

(3) Statement ‘A’ is false, but statement ‘B’ is true

(4) Statements ‘A’ and ‘B’, both are false

Foedl FHTATS ST / SPACE FOR ROUGH WORK P.T.O.
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23, @ e aemEr qom
faerT @’ ; TR IS §ETHH § 390, T 1M 6 212,
(1) Toum ‘o snfor = 2= dew 3mgq.
(2) faum or sufor & S=f sme g,
(3) UM o T onga faum @ oW oM.
(4) faum o smea ow@ foam & o o,
Examine the trueness of following statements :
Statement ‘A’:  The climate of Konkan is cold, uneven and dry.
Statement ‘B’: The climate of Maharashtra Plateau is hot, even and humid.
(1) Statements ‘A’ and ‘B’, both are true.
(2) Statements ‘A’ and ‘B’, both are false.

(3) Statement ‘A’ is true, but statement ‘B’ is false.

(4) Statement ‘A’ is false, but statement ‘B’ is true.

24, @reld foumr= goar 99

AR WTHT SA9el 378 TEvrr.
e 7’ TGEITE IHT 59 99 39 T a9 T g qU9E FH) g vt aned A
ATAT ATYHETE] fdaaT wuEm.

(1) faum v snftr & 2t Tex amq.

(2) foum o afor & I srE TR,

(3) foum or = a1gg foum @ sEe o

(4) faum or s or favm @ 9= omR.
Examine the trueness of the following statements :

Statement ‘A’:  While going from mean sea level to upward side, the temperature of
air decreases. It is called Normal Temperature Lapse Rate.

Statement ‘B’:  While going from mean sea level to upward side, the air
. temperature increases instead of decreasing. It is called inversion of
temperature.

(1) Statements ‘A’ and ‘B’, both are true.
(2) Statements ‘A’ and ‘B’, both are false.
(3) Statement ‘A’ is true, but statement ‘B’ is false.
(4) Statement ‘A’ is false, but statement ‘B’ is true.

FoedT BRI TR / SPACE FOR ROUGH WORK
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25, @ela fouHE Torar qomEn

fayr g’ : TETE Y SUeiey 4 qied Sipfie yHr w5 ae i deeee
THTI AT O o I AhEGI JJa0 AEET 3T TEUrard.

(1) faum & anfn & g w9 .

(2) faum o7 anfn @ §Fd W A

(3) faum <7 v a7 faum & 3w IR,

(4) Toum o e oy faum =@ w1 R

Examine the trueness of the following statements :

Statement ‘A’:  If availability of natural resources is in a large scale and the size of
population is small in an area, such type of population is called over
population.

Statement ‘B’: If availability of natural resources is in a small scale and the size of
population is in a large scale in an area, such type of population is
called minimum population.

(1) Statements ‘A’ and ‘B’, both are true.

(2) Statements ‘A’ and ‘B’, both are false.

(3) Statement ‘A’ is true, but statement ‘B’ is false.

(4) Statement ‘A’ is false, but statement ‘B’ is true.

26, @A fauFE gear aee

Y3 ; Earamel {lushcdy WRaTs ga- ST YRAME FAa auNH goe Sl
I TS A g1 ST T St 3.

faar frareamed I ARG geld GlUhedd WRATWE! ga dUNE W ST
HEJ S 7Y AT A JAO HH 7.

(1) faum @ snfer 9 <d v g,

(2) foum or ofor @ S8 I Iea.

(3) faum o 4w gy fum = =9 IR,

(4) fqum o swe e faum @ oo oTR.,
Examine the trueness of the following statements :

Statement ‘A’:  In winter season, the air temperature is very low and due to this,
the air pressure is very high in North India as compared to
Peninsular India.

Statement ‘B’: In winter season, the air temperature is very high and due to this,
the air pressure is very low in Peninsular India as compared to
North India.

(1) Statements ‘A’ and ‘B’ both are true.

(2) Statements ‘A’ and ‘B’, both are false.

(3) Statement ‘A’ is true, but statement ‘B’is false.

(4) Statement ‘A’is false, but statement ‘B’ is true.

FHeeqT HTHMHTSI FRT / SPACE FOR ROUGH WORK P.T.C.
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27. WAN serfdEm = B GNTEH g AR,
(1) o (2) Tfeoht (3) sfeu uide (4)
is a research centre of India located in Antarctica.
(1) Aryabhatta {2) Rohimi (3} Indira Point (4) Maitri
28. U SftFta aroft we Svare e S stEea § i _ 1 foewmdl Ipw I8,
(1) T\ (2) HH (3) am (4) wYHE
Water holding capacity is more in Regur soil and hence is excellent for crop.
(1) Rubber (2) Coffee (3) Jute (4) Cotton
29. Iy e gl ¢ _
oy 37 &y
{: g@ 7E7) (3v7em)
H, I e
T rhaaﬁ I sz
O HI. Wiz
A | IV. wau
T I
H ) C =4
(1) III v II I
(2) II III I IV
3) 1Iv II I 11
4) I II III vV
Match the correct pairs :
Column A Column B
{Main Rivers) (Tributaries)
a. Tapi L Panchganga
b.  Godavari 1L Indrayani
c. Bhima III. Panzara
d. Krishna IV. Pravara .
Answer Options:
a b c d
(1y III |AY IT I
2y 1II II1 I v
3 Iv II I I11
(4) I II I v
30. fFe oofie s S wwaeeiet o ddfie TiETd T Arhawd! HATged.
(1) TR - SHETg (2)  IFTE — YEraet
(3) T — AT (4) T - fa=ee
_ area is found a dense population where secondary activities are -
concentrated
(1) Latur — Osmanabad (2) Jalgaon — Bhusawal
(3) Pandbarpur — Solapur {4) -Pimpri — Chinchwad

FHoegT FTHIATS! 1 / SPACE FOR ROUGH WORK
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31, wWicherieh For T Seamrh siEs ugdt g ?

A, Icqed ugal . wma-fata agdt

%, Id gl g @d ugd

ggiet 39

(1) =Aenfus (2) W TS (3) ®&FA T (4) %Fd T
Which of the following is not a method of estimating national income ?

a. Product Method b.  Export-Import Method

¢. Income Method d. Expenditure Method
Answer Options:

(1) aandb (2) candd (3) Onlyb (4) Onlyd

32. SHEEAR ASTAUTF WS Gid I Wigael @A ATIHI S WG foawmTe I, g
Tegeft Tt @eficrd<h! wiv 25 i /Ar 3 2

&, T HS R T 0
%, 3eq S | T. i HEgd
ggiEt I

1) Fafus (2) g (3) wmafung (4) &1 afor =

The Budget of the Central Government is divided in two parts, namely Revenue
Account and Capital Account. Which are the two sources of revenue receipts to the
Central Government ?

a. External Loan b. Tax Revenue
c.  Small Savings d. Non-tax Revenue
Answer Options :
(1) aendb 2) bandd 3) candd (4) aandec

33. wigacll awq @M A0 gETE el fmEE W QU g AN Eiefioresl Siurer

yfqamETET Il gl ?
(1) wa.s.ud, e gfaam (2) <ghad! SfaAH
(8) e NfqwH (4) wEEETSE TaEE

The Second Plan based on which of the following models emphasized the
development of capital goods industries and basic industries ?

(1) S.V.S. Raghavan model (2) Chakravarthy model
(3) Kelkar model (4) Mahalanobis model

FoeT HFHETEIS! SIA / SPACE FOR ROUGH WORK P.T.O.
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34, el faue faenua =
A, Wfgw g sHeeSTa Al iy 3 AATh ST & qET Hen o,
¥, onider faemren W 30 B Migw e afese .
F. S g1 B WIS U g AR,

Tliedeht it faam stsr e 2

Tt 3e

(1) a1 anfor = (2) ¥ afr %
(3) &1 st =+ ' (4) ha o

Consider the following statements :

a. The Reserve Bank of India is the main agency for implementing the monetary
policy.

b.  To boost economic development is the aim of monetary policy.
c. Bank Rate is an instrument of monetary policy.

Which of the statements given above are correct ?

Answer Options :

(1) aandb (2) bandc

(3) aandc (4) All of the above

35. rcha foum femmm e
9. g g SO QTR 3UgEd IR,
F.  ANAH Wl TACHTHS g SRRl ST Fehe TIR FUa=1 JaEgR! T8
Fheid! Hor /A faam/A @ o/ 3R 2

‘Tl'ﬂ'hc'fi-lﬁ:
(1) 3o g (2) < 3%
(3) HEFT (4) HFd H

Consider the following statements :
a. A surplus budget may prove useful during the period of inflation.
b. A deficit budget is useful for removing unemployment.

¢.  In India, the Agricultural Ministry is responsible for framing the budget of the
Union Government.

Which of the statement/s given above is/are incorrect ?
Answer Options :

(1) aandb (2) bandec
(8) Onlyb (4) Onlyc

FHoThT HHIRITS! ST / SPACE FOR ROUGH WORK




A 15 J11

36. Ay e g3 :
A VG SR TR I. 1976 ¥ F1q

. R o S II. 1998
(RRBs) ®19-1

F. I 96 A% | III. &, 1969

g, i it gEa sgaw IV. 3, 1955

i I
A ] k) K

1 I 11l o II v

(2) 1III I v II

3) II v I IIT

4) IV II III I

Match the following : _

a. Nationalization of the I. 1976 Act
major banks

b. Establishment of RRBs II. 1998
The conversion of the Imperial ITI. July, 1969
Bank of India into the
State Bank

d. Narasimham Committee Report II IV. July, 1955
Answer Options :

a b c d
(1) 1 III II v
(2) 1III I v 1I
3) 1II v I III
(4) IV II III I

37. YIRT SRSl Gieed! RV TSd TA gigare SIHIY HOAEIS! FE B et 2
(1) Friem i ' (2) Tsfa T et (NSS)
(8) wetea wfed (4) RIS AT
Which of the following was the nodal agency in the Government of India for
estimation of Poverty ?
(1) Planning Commission (2) National Sample Survey (NSS)
(3) Gadgil Committee {4) Kothari Commission

FoeqT HIHTATS! SN / SPACE FOR ROUGH WORK P.7.0.
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38. Wiclieeh! HivMT WERIATR FEHE 1983-84 =41 Sicadia g& wivard e, i Fav o
TR TR Aemd (PMRY) Tifersdta shevard e ?
(1) w=l @A *E%E (USEP)
(2) vl wigen wEEgEEa wEHy (UWSP)
(3) gfufim sl gawEE! @ IR F&%E (SEEUY)
(4) o TREETE TEIRRTR
Which of the following self employment programmes was launched during 1983-84,
and was later incorporated into the Prime Minister’s Rozgar Yojana (PMRY) ?
(1) The Urban Self Employment Programme (USEP)
(2) The Urban Women Self-Help Programme (UWSP)
(3) Self Employment for Educated Urban Youth Programme (SEEUY)
(4) Self Employment for the Rural Poor

39. el fog fommm =

3. 1976 HEN, HIHTT gl @I sl T Fe S e,

9. qWH ol @ e gen @ | s fatm g sfor forfte @ T dfira
TIAT 99 . :

F. U o @ FEEAn gwr G o wiye s feme de wlian s
AR e IR,

k! v/ Taam /4 srged 3R/ 3Tmed 2

T I

(1) @aors (2) A

(3) @ fT (4) O THE AT

Consider the following statements :

a. In October 1976, an organisation named Controller General of Accounts was
set up.

b. The Controller General of Accounts prepares a condensed form of the
Appropriation Accounts and Financial Accounts of the Union Government.

c. glcl}e appropriation audit and regulatory audit are the statutory duties of the

A.

Which of the statement/s given above is/are incorrect ?
Answer Options :

(1) aandb (2) Onlya
(3) bandc (4) None of the above
40. WA HIVM USHITNY GROME TTUE/EER 278 /3R ?
. fageht qmas q W
F.  HEAS @d T &% g YR (BRP)
gl I '
(1) % A (2) « i = (3) o1 for g (4) FHE
Which of the following is/are the instruments of fiscal policy ?
a. Foreign investment b. Taxes
c.  Public expenditure d. Bank Rate Policy (BRP)
Answer Options:
(1) Onlya (2) bande (3) aandd (4) Onlyd
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41, @ele faum foewa =

§. Tl SEd TR AR e IS WEh wrneed Ty AR SNfer SeR MR A g
7ed R weft i S e,

F.  3FRE 2011 WEY GHAA UIE Shelell FE Hrae GgreAT M U e AR Bl FEe
TRV STesEell JTat.

e HR R s s 2

T W

(1) Hanfor =% (2) "= (3) Hamforw (4) w0d =

Consider the following statements :

a. Rural Employment Generation Programme (REGP) aims at creating
self employment opportunities in rural areas.

b. Swarna Jayanti Shahari Rozgar Yojana aims at creating employment
opportunities for both self employment and wage employment in urban areas.

¢. In August 2011, the Parliament passed a new Act known as Mahatma Gandhi
National Urban Employment Guarantee Act.

Which of the statements given above are correct ?
Answer Options :
(1) aande¢ (2) bandec (3) aandb (4) All of the above

42.  ShuE THAY fagEr SER @reie faur e

N, ufgedr raeea srdeaaey] e oY AFTEeelt aT|d.

q.  gE ARG AhEE 34 Fe A,

%, foo=n sewa wgleor it oferfietor Sieg B,

s 1921 A YRAH ST AL TS el

Fhwtshl vt fae sl e ?

it IW

(1) Hoafiiw (2) T (3) wofrs (4) b wd

Consider the following statements according to demographic transition :

a. In Stage I an economy is primitive and backward.

b. In Stage II rapid growth of population takes place.

c¢.  In Stage III fast industrialisation and urbanisation take place.

d. India entered inte Stage II after 1921.

Which of the statements given above are correct ?

Answer Options : :

(1) aandb (2) bandc (3) candd (4) All the above
FoEg] HHTTE! WP / SPACE FOR ROUGH WORK P.T.O.
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43. WG] FIvY e e A 3R/ AT 7

H,  FEENEF TErE JREE] Ii% S4Eg (Transaction) TWIFLW 1.

q. ey guEr g s/ e e T|at.

®.  AETRIEF A favaE 397 sl

w3 ;

(1) e 3 (2) ¥ s

(3) wF ® (4) A, 9 AT F

Which of the following statement/s is/are correct ?

a. An Auditor cannot check each and every transaction.

b.  Audit evidence is not conclusive in nature.

¢.  An Auditor has to rely upon experts.

Answer Options :

(1) Onlya (2) bandc

(3) Onlyc (4) a,bandc
44, @i fagm faame =

. g % 37w s Tymn 1 ufte, 1935 Tt e,

q.  TEed 4% o7 sfeae adifienr 1950 7l .

#. WWWWWWWWH&WWWWW.

TRl o/t [ /3 sraeg g/ e ?

it I

(1) s (2) @3

(3) ®F & (4) WFd |

Consider the following statements :

a. The Reserve Bank of India was established on 1% April, 1935.
b.  The RBI was nationalised in 1950.

The one-rupee note and coins of all denominations are issued by the Ministry of
Finance of the Government of India.

Which of the statement/s given above is/are incorrect ?

Answer Options :

(1)
(3)

aandb (2) bandc
Only ¢ (4) Onlyb

Froey] HHFATS! AT / SPACE FOR ROUGH WORK
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45. wrele faun fammga = |
H.,  fo snffe s fate adiendt wenwr el

w. foau oft i wf@erm arh 1991 ued A7 anfdew ditor IER Fl.
%. UGN Yawrd Fatdien vieares dvaradt idt fal el geewr e Felt,

el o foum stwT anga ?

et 3w

(1) =M 2 s (3) Falm= (4) =hawd

Consider the following statements :

a. Special Economic Zones (SEZs) are set up to promote exports.

b. The Finance Minister Shri Narasimha Rao introduced the new Economic Policy
in 1991. '

c. The Government has introduced the concept of agri export zones to encourage
agricultural exports.

Which of the statements given above are correct ?

Answer Options :

(1) aandb (2) bande (3) aande (4) All of the above

46. S oH U UHE ASE Hiegd, qC e gt 49 45 Q g i ST 9 3 gwiae streefie
Jreet o =l gt Ty 10 Q A, 9 @ Gyt fEeud faedt 2
(1) 100,450 (2) 100,300 3 150,30Q (4) 10Q,450Q
If two resistances are connected in series, then its equivalent resistance is 45 Q and

if the same resistances are connected in parallel, then its equivalent resistance 1is
10 Q. What are the values of these resistances ?

(1) 10,450 (2} 104,30Q (3) 156Q,30Q 4) 10Q,450Q

47. Wi T vebrw TR ‘frgm’ ay o) vean, WA quEiass stEviean e fhonmed

FUTCATS! &2 4768 (separated) BIAR. AT 5o ST TR,
(1) Y quEas (2) VREME
(8) THETE ITEH (4) e fEadE

When a ray of white light passes through a prism, it is separated into rays of
constituent colours or wavelengths. This phenomenon is called

(1) Reflection of light (2) Refraction of light
(3) Dispersion of light (4) Diffraction of light
48. W 0-2 A 0 fagauwr 100 Q v e oo frgaseh aym e Pt garfea Fe,
o el vt 3oty giden 7
(1) 24 Joules (2) 240 Joules (3) 2400 Joules  (4) 24000 Joules

If 02 A current is passed for 1 minute through an electric iron whose resistance is
100 2, then how many joules of heat are produced ?

(1) 24 Joules (2) 240 Joules (3) 2400 Joules (4) 24000 Joules

Foe1 FHTATS! AT / SPACE FOR ROUGH WORK P.T.O.



20 | ' A

J11
49. v arad grefid 1 2 geigeamel fyat dety srewal.
(1) B3 S (2) List Mg  (3) Be 3T Al (4) =l €4
In the long form of the periodic table, the diagonal relationship is found between the
following pairs of elements :
(1} BandSi (2) Liand Mg (3) Be and Al (4) All of these
50. TR 257 g aHITAl Agd aM 257 m/s IHA T GG qUTErs m Tt 3,
f& 1 M8 h = 6626 x 10734 Js
(1y 1p73 (2) 10792
(3) 10798 (4) arIUshl =ivTAE! ATE
The wavelength of a ball of mass 257 g moving with the velocity 257 m/s will be
m.
Given : h = 6-626 x 1073 J/s
(1) 10735 (2) 10732
(3) 10738 (4) None of the above
51. sfuafa-rem o el ugr ot femmm 9y s 2
(1) 3 2 5 (3 2 4y 1
The total number of sigma bonds inveolved in ethylene molecule is
(1y 3 2y 5 3y 2 4y 1
52. Weiieh! ShIve 9 5419 I §HeH A1ES ?
(1) 9% (@) sufesa (SiSEan)
(3) aveed (widgamiaE) (4 faetauan
Organ level of organization is found in which of the following phyla ?
(1) Porifera (2) Protozoa
(3} Platyhelminthes (4) Coelenterata
53.  grared IeUued 0N (T) 31 R (S) 3T @ 0 & e
(1) T-10,8-10 (2) T-9,S-9
3) T-9,5-10 4y T-10,5-9
The correct number of Terga (T) and Sterna (3) in the abdomen of cockroach are
(1y T-10,8-10 (2 T-9,8-9
3y T-9,5-10 4y T-10,5-9
54. e, FRE I TEoH T I GG RO
(1) TR Affcasa (2) orifsett afewa
(3) WM TR (4) offsel Iy
Malleus, Incus and Stapes are also called
(1) Ear ossicles (2) Auditory vesicles
(3) Bony ear (4) Auditory bones

ZHoel] BETHTS! AR | SPACE FOR ROUGH WORK
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55. fiaew-fgwm tmem vare e Y AT,
(1) FARreEE (2) GEATHEEH
(3) Fraiwrre (4)  F-oTrraE
Yellow-green algae is known as
(1) Chlorophyceae (2} Cyanophyceae
(3) Phaeophyceae (4) Xanthophyceae
56. TIHITH A HahIE I I TEVH BT,
(1) i Aiesd (2) . 59 Hiced
(3) UM Ae=w (4) T Aeed
The group of fungi Mucorales is called
(1) Black Molds | (2) Blue Molds
(3) Green Molds (4) Yellow Molds

57. ==fieg g i favwa: s feme aeear ?

(1) wad 2) fg (3) Fa (4) A
Bunchy top disease is most common in crop.
(1) Papaya (2} Citrus (3) Sugarcane {4) Banana

58. .o WAL 1985 WIETIHA W™ T Fow AN TIEAR TARTIE FEAT Fet IR,
.31, Eefich Fiver e w@fied §9 3R 2
(1) Fiegdet segAsIe W™
(2) e smEEfefheem dm
(3) s 3feF wiferdlt
(4) ! SR @R @ ,
UIP was launched in India in the year 1985 by the Ministry of Health and Family
Welfare. UIP stands for
(1) Universal Immunization Programme
(2} Unique Identification Programme
(3}  United Indian Policy
(4} None of the above
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59.

22 A

12 7 9iha1 AR FHead

(1) Iora=h wiseam s 12 foamy wra.

(2) WishaT H&4 oFF arefavarsar 12 (aw) fafas vgdh.

(3) FILTH Figgler ¥ (Clostridium botulinum) < FaeT=a F&¥a 1072 9d4 wuma
Bl

(4) Rivrral isean St s1ftes qramTeT fada Tgom=aT S T .

The 12D treatment on food refers to

(1) Heat treatment sufficient to kill 12 bacteria.

(2) The use of 12 (twelve) different treatments to preserve food.

(3) A 102 redugtion of Clostridium botulinum endospores.

{4) Any process that destroys thermophilic bacteria.

60.

T U Wi RIS HrEfe T 8

(1) &1 &a TewT=a Yishadial aeal el 38 9 A ITF Tehial TewrT 318
(2) HHEfGARSA (Fibrinogen) Feded Wafafeshqd aTet erhat A0

(3) @TET HEY I WS SEeA Ulgvitean fei s digg wehd

(4) el &1 SR STEciom SIwRfiAY & T &1 Tkl

In the process of clotting, the conversion of fibrinogen to fibrin

(1) Is the final step of clotting process that involves multiple clotting factors
(2)  Occurs when fibrinogen is released from broken platelets

(3) Is linked to hypertension and may damage artery walls

(4) Is likely to occur too often in an individual with haemophilia

qEter Hifgdren Frosiiyas ST 61 9 I .

N, U, E, G, 1, S 3uftr X & ara feremeff admesar i1 wicomel Rerd angd. I+ hicmed
fopam g v emea. s, sfoem, spmier, T, Wifaeeme, wWRAeTe e Sfiemmes @
E Arar snagar fava aeramer omg onft 9 waa N stiet 78 g9 siow 76l R, 187 9=
2 wieamed ferd A8 T caren IS aTEEdl. G & A 1 wicsmed s fr e
T AESd AE. S PTe I WRANE EedN, d Uhe Hioemel fSead. X o
a9 3TE3d M &) HeK UF hiciowed fFrepa Trd. S 7 1 s fireea 1@, S o WA
Iaed 18, N o sfagm™ asa 8.
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Study the following information carefully and answer the question :

N, U, E, G, I, S and X are seven students studying in three different colleges.
Minimum two are studying in each college. Each of them has a favourite subject
from English, History, Geography, Mathematics, Physics, Chemistry and Biology,
not necessarily in the same order.

E’s favourite subject is Physics and studies in college number 2 with only N. T does
not study in college number 2 and he likes English. G studies in college number 3
and does not like Mathematics. Those who like Geography and Chemistry, study in
the same college. X likes Biology and does not study in college number 1. S does not
study with I. S does not like Chemistry. N does not like History.

61. S F Hiawme fFreral 2

(1) ARTH (2) T IA

(3) =t (4) Tifeaa | 39 A&
In which college does ‘S’ study ?

{1) Number 1 (2) Number 2

{3) Number 3 (4) Not confirmed

62.  TH Hihfoh WM LANGUAGE & w55 NDPJWDTH s ffgara. @ OFFICIAL & wisg
T Hish{deh WA HHT foTeTer 2
(1) QIILELCM  (2) QIHLELCO (3) QIILEJCM (4) QIHLEKCO

In a certain code language, the word LANGUAGE is written as NDPJWDIH. How
will be the word OFFICIAL be written in that code ?

(1) QIILELCM (2) QIHLELCO (3) QIILEJCM (4) QIHLEKCO

63. W fo=dl spcaa v Framme wiem e s | s famare Tt @ v faa.

Select the correct option in place of the question mark, if the same rule is followed in
all the three figures.

o] BHTETS SIRTT / SPACE FOR ROUGH WORK P.T.O.
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64. TR B i feren e At e fargrear fswh a8 7
26, 50, 82, ?
(1) 122 {(2) 170 (3) 145 (4) 101

Which of the following options will occur in place of the question mark in the given
number series ?

26, 50, 82, ?
(1) 122 (2) 170 (3) 145 4 101

65. fecion s wifeeha SeAfa-aTeAr SIFM i T Ase 2
11, 5, 20, 12, 38, ?, 74, 54
(1) 42 (2) 32 (3) 26 4) 22
In the given number series, which number will replace the question mark ?
11, 5, 20, 12, 38, ?, 74, 54
(1) 42 (2) 32 (3) 26 (4) 22

66. A B,C,Doanfo E 3 3o dis o6 fgHm 30 gq. ot et geier ymmt 31
H, D= 3971 9o 40 H. W B IW.
4. B =1 gftoE 60 ft. X A IR,
%. D= ufvewm 251t W C AR,
3. A=nIW@E 90 #. & E IR,
T B =1 ST SIS St AMTg, e $u fa@en wiv e

(1) A 2) C 3 D 4) E
A, B, C, D and E are standing facing to the north in a playground such as given
below

a. Bisat 40 m to the right of D.

b. Ais at 60 m to the south of B.

¢. Cis at a distance of 25 m to the west of D.

d. Eis at a distance of 90 m to the north of A.

Who is in the North-east of the person, who is to the left of B ?

1) A 2y C 3) D 4 E

67. < PEN = 70, BOOK = 86 3/@& @@ DUSTER = ot ?

(1) 174 {2) 184 (3) 186 (4) 188
If PEN = 70, BOOK = 86, then DUSTER = ?
(1) 174 (2) 184 (3) 186 (4) 188

Hoed] BIHTAISE ST / SPACE FOR ROUGH WORK



A 25 J11

68. UF ufda Wwageal It oy w41 gl aielt 180 Y. oM. UH AWML N AW 8 R q
T 20 Hherd SAEiEd, T 1 SWEET A F 3 .

(1) 1154t afer 153 /4. (2) 120 #t. snfir 10 . /3.
(3) 1107, anfer 15 1. /4. (4) 120 #t. enfir 15 . /¥,

A person is standing on a railway bridge which is 180 m long. A train crosses that
person in 8 sec and the bridge in 20 sec. Find the speed and length of the train ?

(1) 115 mand 15 m/s (2) 120 m and 10 m/s
(3) 110 m and 15 m/s (4) 120 m and 15 m/s

69. WIEiE ST Srehesarea sraers e wu anftr 1 foeg ST 3t WL

A

Study the positions of the cube shown below and find the number on the opposite
face of 1.

AN

70. 16003 6028 2 & =4 80 THATS &d. T & o1 fhag o 2

(1

(1

(1) 1000 (2) 1200 (3) 1400 (4) 1600
60% of 1600 is equal to 80% of x. Then find the value of x.
(1) 1000 (2) 1200 (3) 1400 (4) 1600

71. UH U= ZRhl HUAAT Ushl ASTAT 4 A SR, A=A STl Tedies Trehl WORe! 6 O
AR, S Thl gt et a8, ® fien madme fawt gvam e 9 ama 2

(1) 2499 (2) 1699 (3y 1248 (4) 1099

A tap can fill a water tank in 4 hours. Due to leakage at the bottom, it is filled in
6 hours. When the tank is full, in how much time will it get empty by the leakage ?

(1) 24 hours (2) 16 hours (3) 12 hours (4} 10 hours

FHoeqT PITEISE SR / SPACE FOR ROUGH WORK P.T.O.
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72. @A W& A9 B R THEEHITRE 155 R At SR SEeiedl 89 S2iasd Y gE FHawr. JErs
A? B a1 ofveme o o qawe 9 a0 25 T A9 W AT YA gE e, Qe JE
B # cfrire wfd e 20 W At A ST S GE FA. 3 A FAEHA N S

e fReft 2
(1) 120 &7 A (2) 100 ) A«
(3) 90 Trdl Aw (4) 80 9T A«

Two ships A and B start their journey from two islands which are 155 nautical miles
apart. The ship A is to the west of the ship B and starts its journey to the east with
the speed of 25 nautical miles per hour. At the same time, ship B starts its journey
to the south with the speed of 20 nautical miles per hour. After 3 hours, what is the
distance between the two ships ?

(1) 120 nautical miles (2) 100 nautical miles
(3) 90 nautical miles (4) 80 nautical miles

73. 20 TR U9 6 AT HW FEA T FH 15 fawa gl Fama. @9 $8 15 TR 39 8 a8 FE
ot feamma ot et 2
(1) 12%== (2) 15f= (3) 20 fe== (4) 18w
A work is completed by 20 workers in 15 days by working 6 hours per day. How

many days will it take to complete the same work by 15 workers by working 8 hours
per day ?

(1) 12 days (2) 15days (3) 20days (4) 18 days

74. x 0 y s =@ g,
HeqT x = 3 el y = 4 STHAM.
G‘ITx:QEFIﬁF'IHIyEﬁ%HHﬁFcﬁ?

(1) 34 (2) 37 (3y 5/3 "~ {4) 4/3

x and y are inversely proportional. When x = 3, then y = 4, so when x = 9, find the
value of y.

(1) 3/4 (2) 3/7 (3) 573 (4) 4/3

75. ot fhma wfaferent T 1,000 @ R fFme sfafee = 1,200 oM. vt w9 3 fam=
forror wfaferett = 1,050 faered, e fasgma e wigft staeiel wmm faedt 2
(1) 1:3 2) 2:1 (3) 3:1 4) 3:2
The cost of cashews is ¥ 1,000 per kg and that of walnuts is T 1,200 per kg. If the
mixture of cashews and walnuts is sold at ¥ 1,050 per kg, then what is the ratio of
the walnuts to the cashews in the mixture ?

(1) 1:3 2y 2:1 (3y 3:1 4) 3:2
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76. IFd R Higeia g IHEEt T TA.TE. wetad! B A g i Sefl
Tl 2
(1) omik= gy gea (2) 9H
(3) W4 (4) ToEA .
Newly inducted submarine INS Kalvari is developed with the help of which
country ? ' :
(1) United States of America (2) Japan
(3) France (4) Israel
77. W adta TElepR FeEiAu@IGNEl UEEl ‘S €3’ gwR et fafemrn e
T Jeleiehl HITe FAThET Qadd! ? '
(1) uw. . st (2) Jdew
(3) ot wrie 4y wH. faae
Christiano Ronaldo, who won a record equalling fifth Ballon d’Or award for the
year’s best player, currently plays for which of the following clubs ?
(1) F.C. Barcelona (2) Juventus
(3) Real Madrid (4) A.C. Milan
78. AT BEalt 2018 BEATNEA IHiars) (fhies) gior e HOM Jucdd afd T
HIoTG ?
(1) wEms (2) 379 %W (3) FAlH (4) ToRE
Which State in India has recently (February, 2018) announced the Policy of
Financial Technology (Fintech) ?
(1) Maharashtra (2) Andhra Pradesh (3} Karnataka (4) Gujarat
79.  WIATIIE SO WE0H Tetae Celiantin afte, 2017 Smifia w0 A 2
(1) ga3 (2) Beweg @) T fegh (4) =
Global Entrepreneurship Summit, 2017 was organised in which city of India ?
(1) Mumbai (2) Hyderabad (3) New Delhi (4) Varanasi
80.  TIUIHT AIMM=AT HUTH B T garan Sfeaw w9 fmpen 2
(1) (2) et (3) @O INH  (4) sfesA
France won their 10t Davis Cup title defeating which country in the Final ?
(1) Germany (2) Italy (3) U.SA. (4) Belgium
81. Weliadhl HVET JAF.LUH, ARG 9T hier st (@) =0 agEETee

Iohdia (S, 2018 ) fagerfl Fwoam et 2

(1) 9 T3 (2) iz F9R A

(3) dU® HY (4) frem wy

Which of the following IAS officers was recently (Jan. 2018) appointed as a Director
General of the Sports Authority of India (SAI) ?

(1) Poma Tudu (2} Surendra Kumar Solanki:

(3) Deepak Kapoor (4) Neelam Kapur

T FHRITE! SIFT / SPACE FOR ROUGH WORK P.T.O.
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82, 48 = YA AU fomae FEead AY v fusde ol WU JEHR ST e ?
(1) uoied form =arée (2) ¥ A%
(3) fafes (4) 120 <ew W fafe
Which film was awarded w1th the ‘Golden Peacock’ Award in the 48" Indian
International Film Festival ?
(1) Angels Wear White (2) Take Off
(3} Kshitij (4} 120 Beats per Minute
83. 2017 gro=A1 [FFI 9% fen stom=n faiha qrerie gt s ?
(1) 3w gmae (2) fogaftad &g
(3) Hfam™ T=+ (4) fwt &
Who among the following bagged the IFFI Lifetime Achievement Award in 2017 ?
(1} Atom Egoyan (2) Vivian Qu
(3) Amitabh Bachchan (4) Kiro Russo
84, T wehou WliAUE wet G g ?
(1) fagE e (2) Ui QEaT
(3) wEHgR ufis aRqEsT yhey (4) WIS THeT
Which of the following options is associated with the “TAPI’ Project ?
(1} Hydroelectricity Project (2) Petroleum Supply
(3) Natural Gas Pipeline Project (4) Atomic Energy Project
85. ‘H*mmgg;w FHemli Fafyq g ?
(1) PNGICIE (2)
(3) et 9mer ™ (4) m U
‘SAUBHAGYA’ scheme is concerned with which of the following ?
(1) Electric supply in each house (2) Best transportation
(3) Better roads (4) Banking reforms
86. I faumar femm 57 @i vty faer

F. ue Jagy™ 2. qagEd fom R @ awtardt sfen midt smaan, Freshew enfor faem @
W@nﬂ?ﬁa@a

T TUS YA T goroamidl e wwrarean ‘s,
wmri%iaa ?ﬁTﬁ.’H%WIHTa‘T firesTen 3MTR.

qaret I

(1) wFa A (2) wad 4

(3) = ol 3 (4) Ifed gt T

Consider the following statements and select the correct answer from the options

given below :

a. Former Prime Minister Dr. Manmohan Singh was chosen as the recipient of
this year’s Indira Gandhi Prize for Peace, Disarmament and Development.

b. He received the award for “improving India’s stature in the world” and for his
“contributions to the cause of economic and social development.”

Answer Options:

(1) Onlya (2) Onlyb

(3) Bothaandb (4) None of these

Feeg] HETARS! WIRN / SPACE FOR ROUGH WORK
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87. TTUEEH G AR RN Greieeh! S0 TEYS TS AT g ?
(1) <= (2) THETHA (3) wrewd Bl (4) "
What is the name of the rocket launched by SpaceX, under its first ever Private
Mars mission ?
(1) Tesla (2) SpaceXel (3) Falcon Heavy (4) Mars-One
88, WU TFENE KU S IMMGEAN T ?
(1) A — 4TS (2) WRA — Tl
(3) WRA —aERH (4) WRE - Y@M
Bandhan Express runs between which of the following countries ?
(1) India - Nepal (2) India- Pakistan
(3) India — Bangladesh (4) India — Bhutan
89, TEH AN FHINE A0 B AEAA hHRSE] AT FHOM HREE T0H T
MR T iU ?
(1) T (2) HITeH (3) FARH (4) WENTY
Name the first State in India to operationalise a law that makes social audit of
government programmes and schemes as a part of government practice.
(1) Goa (2) Meghalaya (3) Karnataka (4) Maharashtra
90. IWM €IS T WA TWHRA Thad ggef Sed M. BT AMEHTETE T
weHH quaTa ATt
(1) o e (2) a9 iR AR
(3) wdewmata IR (4) giaehd W qam@mT =
Yeshi Dhonden was honoured with Padma Shri, by the Government of India. He was
honoured for his contribution in
(1) Tibetan medicines (2) Neonatal diseases
(3) Medicines on snake bites (4) Building a hospital in a remote hilly area
91. Gaah! BT Uiy Geamed Hafehar qaEy 77 ?
(1) Fw wffarRy & (2) TeEd wrfared qe
(3) wETeHt Aoty e (4) v qoflEred de
Karnataka is not a party to which of the following water disputes ?
(1) Vansadhara water dispute (2) Godavari water dispute
(3) Mahadayi water dispute (4) Krishna water dispute
92. &I 1.3 PEHU FRAUHTA HIE FEHN WIS TR AT A TR 2
(1) =9 19 (2) oTH 21 (3) em 51 (4) W 32

According to Dr. B.R. Ambedkar, which Article is the soul of the Indian
Constitution ?

(1) Article 19 (2) Article 21 (3) Article 51 (4) Article 32
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30 A
Wﬁwmﬁwaﬂﬁ@wmﬁﬁﬁmﬁﬁmmﬁ,%w
(1) S — Huadl g
(2) i TR — wHadl gel
(3) YRR AR = S — $g gt
(4) AEFAF AT — T g

Which of the following pairs about the subject and the respective list under the
Constitution of India is not correctly matehed ?

(1) Forest-- Concurrent List

(2) Stock Exchange - Concurrent List
(3) Post Office Saving Bank — Union List
(4} Public Health — State List

94.

et B e g e 2

(1) e 3 TRA™ T J9=a 1981 =0 gohaid STfashrl 31ea.

(2) MEd & dHfEs IHN a3 9e Jar.

(3) warsy Afvadg yufeom o gat Wil AU smea.

(4) e & g e s,

Vijay Gokhale has been appointed as the Foreign Secretary of India. Which of the
following statements is incorrect about him ?

(1) Gokhale is an IFS officer of the 1981 batch.

(2) Gokhale is considered as an expert on China.

(3) Gokhale is the second Marathi officer to take charge as Foreign Secretary of
India. ‘

(4) Gokhale hails from Mumbai.

95.

W Toguz=a Ffidt qoam dfaum agrm reem sonh Fragad Fdft awdh 2

(1) Hw. 1@ (2) TA. MIEETH! 3R

(3) ¥ETHT FHTE @S (4) TH.ITR. ¥R

Which of the following was selected as Constitutional Advisor during the making of
the Indian Constitution ?

(1) B.N.Rao (2) N. Gopalaswami Ayyangar

(3} Shyama Prasad Mukherjee (4) M.R. Jayakar
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96.  FIVIC YeATGRRIGR HeHT Heear= AL TIge~a Turas] Svara 3T ?
(1) 427 gesi (2) 44 = ZoEh
(3) 61 ge=t 4) 24+ gewil
Which amendment in Indian Constitution added Fundamental Duties ?
(1) 427 Amendment (2) 44" Amendment
(3) 615" Amendment (4) 24h Amendment
97.  HH UIGLEE! HA BV TAGHL FIGATHR UHT el g ?
(1) 44 TeAgE Hrag (2) 52 i weIgER ST
(3) 42 & GRS HrERl (4) 61 geATgEd W
Anti-Defection law was passed by the Parliament by which Constitutional
Amendment Act ?
(1) 44t Amendment Act (2) 52" Amendment Act
(3) 42" Amendment Act (4) 61%* Amendment Act
98. @I fqum @ v
. WA Yeaars ¢ WE I AEEET E.
¥, WETARETE SRATSAT ¥ AR Iufedn AT Al AR,
F. WmﬁWmMﬁ.mﬁéWamm
it s faum /faam g@ smea 2
it 3w
(1) v 3 @) of s (3) wF® (4) T0a|d ,
Consider the following statements : L)
a. M.C. Setalvad was the first Attorney General of India.
b.  Attorney General has the right of audience in all courts in the territory of ‘
India.
c.  Attorney General has the right to speak, vote and to take part in the
proceedings of both the Houses of the Parliament.
Which of the above statements is/are incorrect ?
Answer Options:
(1} Onlya (2) aandc (3) Onlyc {4y All of the above
99. F¢ 7 T wibam AR Tt il el ROl O I He
g ?
(1) I=ae 325 (2) =rT=8g 320 (3) 3=og 318 (4) =g 315
According to which Article of the Indian Constitution, are the State and Union
Public Service Commissions established ?
(1) Article 325 (2) Article 320 (3) Article 318 (4) Article 315
100, SR SGUHTET Hive TSR Hat TRg sihaden SwEr Jgd ?

(1) =7 75 (2)  JqeRT 74 (3) 39=A< 73 (4) 382 76
According to which Article of the Indian Constitution, is the Council of Ministers
responsible to the Lok Sabha ?

(1) Article 75 (2) Article 74 (3) Article 73 (4) Article 76
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LA — (qe 197 92...)

(8) wwgfereTed fafea e fafire rie #= om (% 3%) F0d. wyfrafife sTafia a1 s@
FIETE F R HH Hed@ d Fidt Fogren RAW S IR, W AR TEA g AHAR IR TRAH
S eiew ‘whEned Soney Ty yfaEy aoaeEae Afufam-827 A adTEn s
AT AEA g Sl el ST Uk auid] SrErEres A/ e v9e uw gam i g thaw
T BIRE. |

(9) Wex JratEREEl I fafga Pl do FucaHE e € TAYEaE wa et SiaTsET
U M WAl TR, WA Gl ATaTgl INGER SOE SRR WLl
AHAHTHS 7 R W@ wo JTavEs AT

. %. 201.

9. %h. 201.

T geat
Feftefl I T FoArEndt wivit geE: TEe S 2
(1) Enft g S (2) $¥aTey foEmEmR
(3) ST HHiEd U (4) THTEFEST MER
TR A I @) T TR T oI oM. e A1 W SR C(3) g
INd EIAEIIAN S 3, 201 IR I (B) ® adw Pr0 DRI S
grafast ST .

@ @ @& O

ST YAt WA WgiEaehdia Y Yol qEl Ia-hATe B RRiel mEaaten [Eden
IHOFRT ™ o WA TEE 908 U SEie wES angard. gt
e ST VITED ITerad =1aad, 9fe =1 oee) Ua 91es 4.
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